
gFjp - II tpilfs;. 

(1) i. r%fj;jpd; vy;iyaw;w tpUg;gq;fSld; xg;gpLk;NghJ epuk;gy; tiuaWf;fg;gl;l 
my;yJ mUikj;jd;ik nfhz;l tsq;fs; nghUshjhu tsq;fshFk;. mjw;F 
mikar; nryT Njhd;Wk;.  

      cjhuzk;: vupnghUs;> cgfuzq;fs;> gapu; nra;af; $ba epyk; (02 Gs;spfs;) 

,aw;ifapdhy; ,ytrkhf toq;fg;gLtJk; mikar; nryT mw;w nghUl;fs; 
Nritfspd; cw;gj;jpf;fhf gad;gLj;jf; $ba mUikaw;w tsq;fs; 
nghUshjhuky;yh tsq;fshFk;. 
cjhuzk;: kioePu;> tspkzlyk;> #upa xsp                   (02 Gs;spfs;) 

   ii. 1.Rfhjhuk; kw;Wk; Nghrhf;F epiyikfis Nkk;gLj;jy; 

     2.Gjpa njhopy; El;gj;ij mwpKfg;gLj;jYk; Cf;Ftpj;jYk; 

     3.fy;tpiaAk; gapw;rpiaAk; toq;fy; 

     4.Neu; epiyr; rpe;jidfis tpijj;jy; 

     5.ngsjPf %yjdj;ij Nkk;gLj;jy; 

     6.murhq;fj;jpd; Cf;Ftpg;Gf;fs;.                           (04 Gs;spfs;) 

  iii. 1.tsxJf;fPl;Lj; jPu;khdq;fis Nkw;nfhs;sy; 

     2.njhopy; El;gj; njupTj; jPu;khdq;fis Nkw;nfhs;sy; 

     3.tUkhdg; gq;fPl;Lj; jPu;khdq;fis Nkw;nfhs;sy;            (04 Gs;spfs;) 

  iv. 1.tsq;fs; Xupdj; jd;ik tha;e;jitahf ,y;yhik 

     2.xU ifj;njhopypy; tsq;fspd; tpidj;jpwd; kw;nwhU ifj;njhopypy; rkdhf  

       ,Uf;fhJ 

     3.,U nghUs; cw;gj;jp njhlu;gpYk; gad;gLj;jg;gLk; njhopy; El;gk; NtWgly; 

     4.ePz;l fhy cw;gj;jpr; nraw;ghl;by; Fiwe;J nry;Yk; msTj;jpl;l tpisTtpjp   

      njhopw;gly;                                         (04 Gs;spfs;) 

  v.m. 

y nghUs; 

 

          

         •A      PPC 

     B• 

0        x nghUs;         

 

 

 



M. 

y nghUs; 

 

          

            

          PPC2      PPC1 

0   x nghUs; 

 

    Y nghUs; 

 

   PPC2     PPC1  

            

                

 

 0                             X nghUs; 

 YnghUs; 

y 

          

 

          PPC1      PPC2 

 0          x  x1     XnghUs; 

 

,. 

y nghUs; 

 

           •A 

     B•            PPC 

 

 0                x nghUs; 

 

 

 

 

 

 

 

 

 



 

<.Y nghUs; 

           

        •    

 Y      

                                   • 

                          X            PPC 

   0                    X nghUs;        (04 Gs;spfs;) 

 

(2)i.1.Fwpj;j nghUspd; tpiy 

   2.Efu;Nthdpd; gztUkhdk; 

   3.njhlu;Gila nghUl;fspd; tpiy 

   4.Efu;Nthdpd; vjpu;ghu;f;iffs; 

   5.Efu;Nthdpd; Rit 

   6.Vida fhuzpfs; (mur eltbf;iffs;> tpsk;guq;fs;)  (04 Gs;spfs;) 

 ii.  ‘Mk;’ 

 gz;lnkhd;wpd; tpiyf;Fk; mg;gzlj;jpd; kPjhd Efu;Tr; nrytPl;L Kiwf;Fk;  

   ,ilapy;  vjpuhd njhlu;G fhzg;gLkhapd; mJ  Nfs;tp nefpo;r;rpaw;w Mlk;gug; 

   gz;lkhf mikAk;. 

 gz;lnkhd;wpd; tpiyf;Fk; mg;gzlj;jpd; kPjhd Efu;Tr; nrytPl;L Kiwf;Fk; 
,ilapy; Neuhd njhlu;G fhzg;gLkhapd; mJ  Nfs;tp nefpo;r;rpaw;w mj;jpahtrpag; 
gz;lkhf mikAk;. 

 Kbtpy; nefpo;r;rpahapd; tpiy khwhj NghJk; Efu;Tr; nryT khWk;. 
 G+r;rpa nefpo;r;rpapd;NghJ gz;lj;jpd; tpiyf;Fk; Efu;Tr; nryTf;Fk; ,ilapy; 

NeuhdJk;   tpfpjrkkhd njhlu;G fhzg;gLk;.  (04 Gs;spfs;) 

 iii.1.epuk;gy; nra;tjw;fhd tpUg;gj;ijf; nfhz;bUj;jy;. ,J ,yhgj; Jz;lypy; Vw;gLk;. 

   2.epuk;gy; nra;tjw;fhd ,aYik ,J tsq;fs; kw;Wk; njhopy;El;g fpilg;gdtpdhy;  

    Vw;gLk;. 

   3. epuk;gy; jpl;lk; (04 Gs;spfs;) 

iv.1.fhuzpfspd; mirTj; jd;ik 

  2.gz;lj;jpd; jd;ik 

  3.fsQ;rpag;gLj;Jk; Mw;wy; 

  4.tpiy khw;wj;jpw;f Vw;g epuk;giy khw;w vLf;Fk; fhyk;. 

  5.Nkyjpf cw;gj;jp ,aYik (04 Gs;spfs;) 



v. Efu;Nthd; nghUSf;fhf nrYj;jj; jahuhd tpiyf;Fk; re;ijapy; nrYj;jpa 
tpiyf;Fk;   

  ,ilapyhd NtWghL Efu;Nthd; kpifahFk;. 

   EfNthd; kpif = Mff; $ba Nfs;tptpiy – rkepiy tpiy x rkepiyj; njhif 

                                     2                  (02 Gs;spfs;) 

cw;gj;jpahsd;  nghUs; xd;wpid tpw;gid nra;aj; jahuhd tpiyf;Fk; re;ijapy; 
tpw;gid  

 nra;j tpiyf;Fk;  ,ilapyhd NtWghL cw;gj;jpahsd; kpifahFk;. 

 cw;gj;jpahsd; kpif =  rkepiy tpiy – Mff; Fiwe;j epuk;gy; tpiy x rkepiyj; 
njhif 

                                   2                          (02 Gs;spfs;) 

(03)  

i.    Qd = Qs 

300 – 4P   = -90 + 6P 

          390 = 10P 

     390 / 10 =  P 

           39 = P    ( 01 Gs;sp) 

  = 300 – 4x39 

  = 300 – 156 

  = 144 myFfs;    ( 01 Gs;sp)  

 

ii.E.kpif  = ( Mff; $ba  Nfs;tp tpiy - rkepiy tpiy) X rkepiyj; njhif / 2 (01 

Gs;sp) 

            = (75 - 39 ) X 144/2  ( 01 Gs;sp) 

             = 2592/=    ( 01 Gs;sp) 

   

iii. PEd = bxP/Qd 

       = -4x 39/144 

       = -1.08 ( 02 Gs;sp) 

PEs = bxP/Qs 

       = 6x 39/ 144 

       = 1.6  ( 02 Gs;sp) 

iv. m.  QSs = -90 + 6(P+5) 

       = -90 + 6P +30 

      = -60 + 6P ( 02 Gs;sp) 

M. Qd = Qs 

300 – 4P   = -60 + 6P 



          360 = 10P 

     360 / 10 =  P 

           36= P          (01 Gs;sp) 

= 300 – 4x36 

  = 300 – 144 

  = 156 myFfs; (01 Gs;sp) 

 

,. murpd; khdpar; nryT = myF khdpak; x Gjpa rkepiyj; njhif 

    = 5 x 156 

                                        =780 &gh     (02 Gs;sp) 

      <.kh. gp. c. kpif = ( cw;gj;jpahsUf;Ff; fpilf;Fk; tpiy - Mff; Fiwe;j 

epuk;gy;   

      tpiy) X  Gjpa rkepiyj; njhif /2  (01 Gs;sp) 

                               = ( 41 - 15) X 156 /2              (01 Gs;sp) 

                               = 2028/=                                 (01 Gs;sp) 

      c.khdpak; fhuzkhf r%f eydpy; Vw;gLk; ghjpg;G ahJ? 

      r%f eyd; ,og;G   = rkepiyj; njhifapy; khw;wk; X myF khdpak; / 2    

                      = 12 X 5 / 2  

                                    = 30/=                                   (02 Gs;sp) 

(4) i.XuyF khWk; cs;sPl;bw;fhd ntspaPl;bd; msTruhrup cw;gj;jp vdg;gLk;. AP = TP / 

L 

      XuyF ntspaPl;bw;fhd khWk; nryT ruhrup khWk; nryT vdg;gLk;. AVC = TVC / Q 

     ruhrup cw;gj;jp tisapapd; jiyfPo; tbtk; ruhrup khWk; nryT MFk;.  

  ruhrup cw;gj;jp mjpfupf;f ruhrup khWk; nryT tPo;r;rpailAk; ruhrup cw;gj;jp 
tPo;r;rpaila   

   ruhrup khWk; nryT mjpfupf;Fk;.   (04 
Gs;spfs;) 

  ii. ePz;lfhy cw;gj;jpapy; rfy cs;sPLfisAk; khw;wpaikf;Fk; tPjj;ij tpl mjpfsT  

   tPjj;jpdhy; ntspaPL mjpfupg;gJ mjpfupf;Fk; msTj;jpl;l tpisthFk;. 

    1.cw;gj;jpf; fhuzpfspd; gpupglhj; jd;ik 

    2.Kfhikj;Jtr; rpf;fdk; 

    3.njhopy;El;gr; rpf;fdk; 

    4.tsr;rpf;fdk; 

    5.xU Kiw kl;Lk; Vw;f Ntz;ba nryTfs; 

    6.njhopw; gpupg;Gk; rpwg;Gj; Nju;r;rpAk;.             (04 Gs;spfs;) 

  iii.Nkyjpf XuyF ntspaPl;bw;fhf Vw;gLk; cw;gj;jpr; nryT vy;iyr; nryT MFk;.  



     MC = TCQ                                                                             (02 Gs;spfs;) 

 Fiwe;J nry;Yk; vy;iytpisTfs; fhuzkhf FWq;fhy cw;gj;jpf;fhd vy;iyr; nryT   

 Muk;gj;jpy; Fiwtile;J gpd;du; mjpfupj;Jr; nry;fpd;w xLq;fpa; U tbitg; ngWk;. 

                                                       (02 Gs;spfs;) 

 iv. 

epiwNghl;b jdpAupikg; Nghl;b 

1.Vuhskhd tpw;gidahsu; Efu;Nthu; 

fhzg;gLthu;.  

2.cw;gj;jp Xupdj;jd;ik  

 

3.G+uz gjpyPl;ilf; nfhz;l cw;gj;jpg; 

nghUl;fs; fhzg;gly; 

4.Guz gpuNtr Rje;jpuk; fhzg;gly; 

5.fhuzp mirTf;F jilapy;iy 

                        (02 Gs;spfs;) 

1.njhopypy; Vuhskhd epWtdq;fs; 

fhzg;gLk;. 

2.xt;nthU epWtsKk; NtWgLj;jg;gl;l 

gz;lq;fis cw;gj;jp nra;Ak; 

3.neUq;fpa gjpyPl;ilf; nfhz;l cw;gj;jpg; 

nghUl;fs; fhzg;gly; 

4.Guz gpuNtr Rje;jpuk; fhzg;gly; 

5.fhuzp mirTf;F jilapy;iy 

                       (02 Gs;spfs;) 
 

 

 v. m. Q =TR/ MC    

               = 45000 / 45  

               = 1000                                                                     (02 Gs;spfs;) 

     M. c.kpif = TR –TVC  

                23000   = 45000  - TVC 

                22000  = TVC 

AVC = TVC / Q 

         = 22000/ 1000 

        = 22                                                                              (02 Gs;spfs;) 

 

(5)i.G+upg;G epiyg; Gs;spg; gz;Gfs;: 

   1.nka;cw;gj;jp mjpfupj;J fhzg;gLk;. 

   2.KjyPl;L kl;lk; mjpfupj;Jf; fhzg;gLk;. 

   3.Ntiy tha;g;G mjpfkhf fhzg;gLk;.               (02 Gs;spfs;) 

  jho;T epiyg; Gs;spg; gz;Gfs;: 

   1.nka;cw;gj;jp tPo;r;rpaile;J fhzg;gLk;. 

   2.KjyPl;L kl;lk; tPo;r;rpaile;J fhzg;gLk;. 



   3.Ntiyapd;ik mjpfkhf fhzg;gLk;.                  (02 Gs;spfs;) 

 

  ii.cw;gj;jp mDF Kiwapd; mbg;gilapy; nkhj;j cs;ehl;L cw;gj;jpia kjpg;gPL 

nra;Ak; NghJ xU nghUspd; ngWkjp gy jlitfs; $l;lg;gLtjhy; cw;gj;jpapd; ngWkjp 

kpiff; fzpg;gPl;bw;F cl;gLk;. ,t;thW xU nghUs; gy;NtW jlitfs; cw;gj;jpapy; 

nru;f;fg;gLtjy; gy;fzpg;gPl;Lg; gpur;rpid vdg;gLfpd;wJ. 

X epWtdk; Y epWtdj;jplkpUe;J 1000 kpy;ypad; &gh ngWkjpahd Jzpiaf; nfhs;tdT  

nra;J 2500 ngWkjpahd Glitia cw;gj;jp nra;jjhapd; X epWtdj;jpd; nkhj;j 

ntspaPl;Lg;  

ngWjp 2500 kpy;ypad; &ghthFk;. ,J gy; fzpg;gPl;bw;F cl;gl;ljhFk;.  Y epWtdj;jpd; 

cw;gj;jpg; ngWkjp 1000 kpy;ypad; &gh X epWtdj;jpd; cw;gj;jpg; ngWkjpapy; 

cs;slf;fg;gl;Ls;sJ. X epWtdj;jpd; ntspaPl;Lg; ngWkjpapy; ,Ue;J Y epWtdj;jplk; 

nfhs;tdT nra;j ,il epiy Efu;itf; fopg;gjd; %yk; gy;fzpg;gPl;Lg; gpur;rpidiaj; 

jPu;f;fyhk;. 

X d; ntspaPl;bd; ngWkjp  = 2500 MR 

Y d; ,ilepiy Efu;T    = 1000  MR 

/ X d; $l;ba ngWkjp    =  1500 MR                                                     (04 Gs;spfs;) 

iii.1.cw;gj;jp kPjhd Njwpa tupfs; 

  2.Nghf;Ftuj;Jr; nryT 

  3.tzpf tpspk;G (,ilj;jufu;fspd; mwtPLfs;) 

  4.Efu;Nthu; nrYj;J Ntz;ba tupfs;.                           (04 Gs;spfs;) 

 iv.m. AD = C+I+G+(X –M)                                     (02 Gs;spfs;) 

       M.  KT = -b / 1 – b 

                       =  - 0.8 / 1 -0.8 

                       = - 0.8 / 0.2 

       = -4 

                  KT = 1 / 1 – b 

                       =  1 / 1 -0.8 

                       = 1 / 0.2 

       = 5                                                                                                        (02 Gs;spfs;) 

    ,. Y  = C+I+G+NX 



   Y = 200 + 0.8 (Y – 200) +500+ 300+ (200 – 100) 

                  Y   = 1100 + 0.8 Y – 160 

                  Y = 940 + 0.8Y 

                  Y – 0.8Y = 940 

                         0.2Y = 940 

                              Y = 940 / 0.2 

                               Y = 4700 B.R                                                                  (02 Gs;spfs;) 

         <.epiw njhopy; kl;lj;ij mila mjpfupf;f Ntz;ba tUkhdk;  = 6000 – 4700  = 

1300 

                             mjpfupf;f Ntz;ba KjyPL =  

                                                 Y = K x I 

                                                       1300 = 5 x I 

                                                       1300 / 5 = I     / I = 260 BR (02 Gs;spfs;) cg gpupT 

– M 

06. 

(i) m – nka;tUkhdj;jpw;Fk; gzj;jpw;fhd Nfs;tpf;Fkpilapy; Neu;f;fzpaj; 
njhlu;G fhzg;gLk;. nka;tUkhdk; mjpfupj;jhy; gzj;jpw;fhd Nfs;tp 
mjpfupf;Fk; khwhf nka;tUkhdk; Fiwtile;jhy; gzj;jpw;fhd Nfs;tp 
FiwtilAk;. 

 

M – nghJtpiy kl;lk; mjpfupf;Fk; NghJ gzj;jpw;fhd nfhs;tdTr; rf;jp 
Fiwtjdhy; gzj;jpw;fhd Nfs;tp mjpfupf;Fk;. nghJ tpiy kl;lj;jpw;Fk; 
gzj;jpw;fhd Nfs;tpf;Fk; ,ilapy; Neu;f; fzpaj; njhlu;G fhzg;gLk;. 

 

(ii) tpupe;j gzepuk;gYld; (m2) rPuikf;fg;gl;l ntspehl;L ehza itg;Gf;fspd; 

msit (50%) $l;ltUtJ xd;wpizf;fg;gl;l tpupe;j gzepuk;gy; (m2b)  
MFk;. 

M2b = M2+ TSDNRFC+RDFCBU 

Fwpj;j fhyg;gFjpapy; muR kw;Wk; tq;fp jtpu;e;j Vida nghJ 
kf;fsplKs;s jhs;> cNyhf ehzaq;fs; 
nghJ kf;fspd; ngaupy; tzpf tq;fpapy; cs;s Nfs;tp> Nrkpg;G kw;Wk; 
jtiz itg;Gf;fs;  
tjpahNjhu; ehzaf;fzf;fpy; cs;s jtiz> Nrkpg;G itg;Gf;fs; 
ntspehl;L ehza tq;fpg; gpuptpYs;s tjpTs;Nshu; itg;Gf;fs; vd;gtw;iw 
cs;slf;fpaJ. 
 

(iii) nfhOk;G Efu;Nthu; tpiyr; Rl;nlz; 
Njrpa Efu;Nthu; tpiyr; Rl;nlz; 
cw;gj;jpahsu; tpiyr; Rl;nlz; 
nkhj;j cs;ehl;L cw;gj;jpr; RUf;fp 



 

(iv)  m. itg;G= 1600 m  

xJf;F = 200 m 

xJf;FtPjk; = 10% 

 

160

1600
100

10


 

rl;luPjpahd xJf;F = 160 m 

kpif xJf;F = xJf;F - rl;luPjpahd xJf;F 

           = 200 – 160 

                        = 40 

M. 

nrhj;Jf;fs; kpy;ypad; &gh nghWg;Gf;fs; kpy;ypad; &gh 
itg;Gf;fs; 1640 xJf;F 

fld; 
200 
1440 
 

nkhj;jr; nrhj;Jf;fs; 1640 nkhj;jg; nghWg;Gf;fs; 1640 
 

(v) gzg;ngUf;fpapd; Clhf xJf;Fg;gzj;Jld; ,ize;J ,ilepiy ,yf;fhfpa 

tpupe;j gzj;jpd; mstpid (m2) fl;Lg;gLj;Jtjd; %yk; ,Wjp ,yf;fhfpa 
tpiy cWjpg;ghl;bid mile;J nfhs;Sjy; ehza ,yf;fply; vdg;gLk;.  

 
gzf;nfhs;iff;F topfhl;Ltjw;fhf fpilf;fpd;w gpujhd ,ilj;jur; 
Rl;nlz;zhf tpupe;j gzepuk;gy; gad;gLj;jg;gLfpd;wJ. ,yq;if kj;jpa 
tq;fp epfo;fhyj;jpy; nraw;ghl;byf;fhf epiwaspf;fg;gl;l miog;Gg;gz 
tPjj;ijg; gad;gLj;Jfpd;wJ. 

07 

(i) Nkd;ikg; gz;lk; - jdpahu; ed;ikia tpl r%f ed;ik cau;thf 
,Uj;jy;> Neu;fzpa ntspthup tpisTilaJ. 
Nkd;ikaw;w gz;lk; - r%f ed;ikia tpl jdpahu; ed;ik mjpfkhdJ 

vjpu;fzpa ntspthup tpisTilaJ. 
nghJg;gz;lk; - Efu;tpy; Nghl;bj;jd;ikaw;wJ> nfhLg;gditr; 
nrYj;jhNjhiu Efu;tpy; ,Ue;J tpyf;fKbahJ. 
nghJ tsk; - Efu;tpy; Nghl;bj;jd;ikAilaJ> nfhLg;gditr; 
nrYj;jhNjhiu Efu;tpy; ,Ue;J tpyf;fKbahJ. 

 

(ii) cw;gj;jpapy; vjpu;f;fzpa ntspthupfs; cs;s NghJ cw;gj;jpf;fhd vy;iy 

jdpahu; nryitf; fhl;bYk; (MPC) vy;iyr; r%f nryT 

mjpfkhFk;(MSC). ,jdhy; jdpahu; epuk;gy; Nfhl;bw;F NkNy r%f epuk;gy; 



NfhL fhzg;gLk;. ,jdhy; kpif cw;gj;jp Vw;glyhdJ ts xJf;fPl;Lr; 
nraw;wpwd; ,d;ikhy; Vw;gLk; re;ijj; Njhy;tpiaf; Fwpf;fpd;wJ. 

 
 

(iii) m. gpujpgyd; njhlu;ghd jj;Jtk; - murhq;fj;jpdhy; kf;fSf;F 
toq;fg;gLk; Nritapd; msTf;Nfw;g kf;fs; murhq;fj;jpw;F tup nrYj;j 
Ntz;bapUj;jy;. 
M.  nrYj;Jk; jFjpj; jj;Jtk; - xt;nthU jdpegupdJk; tup nrYj;Jk; 
rf;jpf;Nfw;g tup mwtplg;gly; Ntz;Lk; vd;gjhFk;. 

 

(iv) nghUl;fs; Nritfs; kPjhd nrytPL 

tl;br; nrYj;jy;fs; 
khw;wy;fs; 

 

(v) nghUshjhu tsu;r;rpiaAk; mgptpUj;jpiaAk; mjpfupj;jy; 
epiwnjhopy; kl;lk; 
tpiy cWjpg;ghL 

tu;j;jf rfNlhl;l jsk;gy;fis fl;Lg;gLj;jy; 
nrd;kjpepYitg; gpur;rpidfisf; Fiwj;jy; 
tUkhdk;> nry;tg;guk;gypd; Vw;wj;jho;itf; Fiwj;jy; 
tsg;gfpu;tpid tpidj;jpwdhf;Fjy; 
nkhj;jf; Nfs;tp kw;Wk; nkhj;j epuk;gypy; jhf;fk; nrYj;Jjy; 

08. 

(i)  ,U ehLfs; fhzg;gLk; epiyapy; nghUnshd;wpd; cw;gj;jpapy; KjyhtJ ehL 
,uz;lhtJ ehl;il tpl mjpfsT ntspaPl;il jug;gl;Ls;s cs;sPLfisg; 
gad;gLj;jp cw;gj;jp nra;a KbAkhapd; Fwpj;j KjyhtJ ehL Fwpj;j 
nghUSw;gj;jpapy; ,uz;lhtJ ehl;il tpl KO ed;ikia nfhz;Ls;sJ vdyhk;. 

nghUnshd;wpd; cw;gj;jpapy; Fwpj;j xU ehL kw;iwa ehl;il tplf; Fiwthd 
mikar; nrytpidf; nfhz;bUf;Fkhapd; me; ehL Fwpj;j nghUs; njhlu;gpy; xg;gPl;L 
ed;ikiaf; nfhz;bUf;Fk; 



(ii)  

m.  

ehL thndhyp fzpdp 
,e;jpah 10/4 = 2.5 4/10= 0.4 
rPdh 5/1= 5 1/5= 0.2 

 

thndhyp cw;gj;jpapy; xg;gPl;L eyd; fhzg;gLtJ ,e;jpahtpw;fhFk;. fhuzk; 
thndhyp cw;gj;jpf;fhd mikar; nryT xg;gPl;lstpy; FiwthFk;.  

fzpdp cw;gj;jpapy; xg;gpl;L ed;ik fhzg;gLtJ rPdhTf;fhFk;. fhuzk;  rPdhtpy; 
fzpdp cw;gj;jpf;fhd mikar; nryT xg;gPl;L uPjpapy; FiwthFk;. 

M. 

             

  ,e;jpah        rPdh 

,e;jpah thndhypg; ngl;b cw;gj;jpapy; rpwg;Gj; Nju;r;rpia Vw;gLj;jpf; nfhs;fpd;wJ. 

G+uz rpwg;Gj; Nju;r;rp mbg;gilapy; ,e;jpah A vd;w cw;gj;jpr; Nru;f;ifia cw;gj;jp 
nra;Ak;.  

rPdh fzpdp cw;gj;jpapy; rpwg;Gj; Nju;r;rpiag; ngw;Wf; nfhs;fpwJ. G+uz rpwg;Gj; 

Nju;r;rp mbg;gilapy; rPdh B vd;w cw;gj;jpr; Nru;f;ifapy; cw;gj;jp nra;Ak;. 

,.  

thndhypg; ngl;b cw;gj;jpapy; rpwg;Gj; Nju;r;rpiag; ngw;w ,e;jpah 100 thndhypfis 

Vw;Wkjp nra;J 400 fzpdpfis ,wf;Fkjp nra;Ak;NghJ Efu;Tr; Nru;f;if A1 tiu 
efu;fpd;wJ. mjd;gb ,e;jpahtpd; Efu;Tr; rhj;jpa vy;iy cw;gj;jp rhj;jpa 
vy;iyapypUe;J tyg;gf;fkhf efu;fpd;wJ. 

fzpdp cw;gj;jpapy; rpwg;Gj;Nju;r;rpiag; ngw;w rPdh 400 fzpdpfis Vw;Wkjp nra;J 

100 thndhypfis ,wf;Fkjp nra;fpwJ. mg;NghJ Efu;Tr; Nru;f;if B1 tiu 
efu;fpd;wJ. ,jd;gb rPdhtpd; Efu;Tr; rhj;jpa vy;iy cw;gj;jp rhj;jpa 
vy;iyapypUe;J tyg;gf;fkhf efu;fpd;wJ. 

<. 

,e;jpah xU thndhypia Vw;Wkjp nra;J rPdhtpy; ,Ue;J ,wf;Fkjp nra;Ak; 
fzpdpfspd; njhif 2.5 w;Fk; 5 w;Fk; ,ilapy; mika Ntz;Lk;. 



rPdh fzpdp xd;iw Vw;Wkjp nra;J ,e;jpahtpypUe;J ,wf;Fkjp nra;Ak; 
thndhypfspd; njhif 0.2 w;Fk; 0.4 w;Fk; ,ilapy; mika Ntz;Lk;.  

(iii) 

 fhuzp fpilg;gdTj;jd;ik 

 cw;gj;jpj;jpwd; NtWghLfs; 

 msTj;jpl;lr;rpf;fdq;fs; 

 njhopDl;g khw;wq;fSk; Gj;jhf;fq;fSk; 

 ,l mikT 

 cw;gj;jpg; nghUspd; tho;if tl;lk; 

 Efu;Nthu; tpUg;gj;Nju;Tfs; 

 Murhq;ff; nfhs;iffs; 

(iv) 

epiyahd ntspehl;L ehzakhw;W tpfpjj;jpd; ed;ikfs; 

 mbf;fb ehzakhw;W tpfpjk; jsk;gy; milAk; mghak; ePq;fg;gLtjhy; 
ru;tNjr tu;j;jfk; Cf;Ftpf;fg;gLk; 

 Vw;Wkjpfspd; Nghl;bj; jd;ikia ghJfhj;Jf; nfhs;tjw;fhf cw;gj; 
jpr;nryit xg;gPl;L uPjpapy; Fiwe;j kl;lj;jpy; Ngzpf; nfhs;tjw;F ,jdhy; 
tw;GWj;jg;gLtjdhy; cs;ehl;Lg; nghUshjhu Kfhikj;Jtk; njhlu;ghf 
,Wf;fkhd xOq;nfhd;W Vw;gLk;. 

 ru;tNjr %yjd KjyPLfs; kw;Wk; fld; epjpfs; vd;gtw;iwg; gupkhwpf; 
nfhs;tjw;Fr; rhjfkhd epiy Vw;gLk;. 

 ehzakhw;W tpfpjj;jpd; vjpu;ghu;f;fg;gl;l khw;wq;fis mbg;gilahff; nfhz;l 
cj;Njr eltbf;iffs; eilngw khl;lhJ 

epiyahd ntspehl;L ehzakhw;W tpfpjj;jpd; jPikfs; 

 ntspthup rkepiyf;fhf cs;ehl;L rkepiyiaj; jpahfk; nra;aNtz;b 
Vw;gLk;. 

 epiyahd ehzakhw;W tpfpjj;jpDs; kpif my;yJ Fiwf; fzpg;gPLfs; 
Vw;gLkhapd; epue;jukhd nrd;kjp epYit rkkpd;ikf;F Kfq;nfhLf;f 
Ntz;b Vw;gly;. 

 epiyahd ehzakhw;W tpfpjj;jpidg; NgZtjw;F ehza mjpfhupfSf;F 
ntspehl;L nrythzpapy; ngUksthd xJf;nfhd;iw NgzNtz;b Vw;gly; 

 Nghjpasthd ntspehl;L nryhtzp xJf;nfhd;W ehza mjpfhupfsplk; 
,y;yhj re;ju;g;gj;jpy; nrd;kjp epYitg; gw;whf;Fiw fhzg;gLkhapd; 
fLikahd ghJfhg;G eltbf;iffisg; gpd;gw;w Ntz;bVw;gly; kw;Wk; 
mjdhy; r%f eyDf;Fg; ghjpg;G Vw;gly; 

09. 

(i) nghUshjhu tsu;r;rp vd;gJ fhyg;Nghf;fpy; Njrpa ntspaPL kw;Wk; tUkhd 
kl;lq;fspy; mjpfupg;gpid Vw;gLj;jf;$ba tifapy; nghUshjhuj;jpd; cw;gj;jp 
,aystpy; epiyahd mjpfupg;ig Vw;gLj;Jk; nrad;KiwahFk;. 



   gpujhd %yhjhuq;fs; 

 tsj;jpul;rpapy; Vw;gLk; mjpfupg;G (ngsjPf %yjdk;> ,aw;if %yjdk;> kdpj 
%yjdk;> r%f %yjdk;) 

 cw;gj;jpj;jpwd; mjpfupg;G (njhopy;El;g tpUj;jp> Gj;jhf;fq;fs;> Ma;T kw;Wk; 
mgptpUj;jp eltbf;iffspd; mjpfupg;G 

 nghUshjhu cWjpg;ghL 

 Kaw;rpahz;ik jpwd; tpUj;jp 

 Cf;Ftpg;Gf;fs; 

 ey;yhl;rp 

 tu;j;jf Rje;jpuk;> KjyPL jpwe;J tplg;gly; 

(ii) 

 cl;fl;likg;G trjpfis tpupthf;Fjy; 

 kdpj %yjd tpUj;jpf;fhd %jyPLfis Nkw;nfhs;sy; 

 Ma;T kw;Wk; mgptpUj;jpj;Jiwfis Nkk;gLj;jy; 

 Neub ntspehl;L KjyPLfis Cf;Ftpj;jy; 

 nghUshjhu cWjpg;ghl;il Vw;gLj;jy; 

 mur jdpahu; gq;Flikfis Cf;Ftpj;jy; 

 ey;yhl;rp %yk; ntspehl;L ed;kjpg;Gf;fis ngw;Wf;nfhs;sy; 

(iii) 

tUkhdg;guk;gy; Vw;wj;jho;Tfs; 

 Nyhud;]; tisap 

 fpdpf;Fzfk; 

 Iaiz guty; tpfpjk; 

   Kjyhdtw;iwg; gad;gLj;jp mstplg;gLfpd;wJ. 

     tWik  

 Njrpa tWik NfhL 

 ru;tNjr tWik NfhL 

 jiyf;Fupa tWikr; Rl;nlz; 

 tWik ,ilntspr; Rl;nlz; 

 gy;gupkhz tWikr; Rl;nlz; 
Nghd;w epajpfisg; gad;gLj;jp mstplg;gLfpd;wJ 

(iv) 

 ngz;fs; vy;yhtpjkhd NtiyfisAk; nra;a Kd;tuhik 

 ngz;fs; J}u ,lq;fSf;Fr; nrd;W Ntiynra;a tpUk;ghik 

 ngz;fs; mjpfupj;j FLk;gg;nghWg;Gr; Rikia Vw;Ws;sik 

 r%ff; fl;Lg;ghLfs;> tpOkpaq;fs; jPtpukhfg; gpd;gw;wg;gLfpd;wik 

 njhopy;tha;g;Gf;fis toq;FtJ njhlu;gpy; fhzg;gLk; ghugl;rk; 



 ngz;fSf;F Vw;w njhopy;tha;g;Gf;fis cUthf;Ftjpy; fhzg;gLk; 
gytPdq;fs; 
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(i)  

 cau;kl;lj;jpy; fhzg;gLk; ghjPl;Lg;gw;whf;Fiw 

 mur fld;Rik njhlu;r;rpahf cau;kl;lj;jpy; fhzg;gLjy; 

 tu;j;jf epYitg;gw;whf;Fiw tpuptile;J nry;yy; 

 epr;rakw;w nghUshjhuf; nfhs;if 

 cs;ehl;Lr; Nrkpg;Gf;fs; Fiwe;j kl;lj;jpy; fhzg;gly; 

 mbf;fl;Lkhdq;fspd; FiwghL 

(ii)  

rthy;fs; 

 cy;yhrg;gaz ifj;njhopy; njhlu;ghd gapw;rp ngw;w njhopyhsu; gw;whf;Fiw 

 cy;yhrg;gazpfSf;fhd tpLjpfs; kw;Wk; tpLjp miwfspd; gw;whf;Fiw 

 cy;yhrg; gazf; ifj;njhopypd; ghJfhg;Gk; ey;nyhOf;fKk; 
mjpfupf;fg;glNtz;ba epiy fhzg;gly; 

 cy;yhrg; gazpfs; jq;fpapUf;Fk; ehl;fspd; vz;zpf;ifapid mjpfupg;gjw;F 
tpNrl nfhs;ifj; jpl;lq;fis Nkw;nfhs;sNtz;bapUj;jy; 

 cy;yhrg; gazj;njhopYld; njhlu;Gila vy;yhg; gpur;rpidfisAk; 
Nkw;ghu;it nra;af;$ba mur fl;likg;Gj; Njitg;gly;. 
 
tpUj;jpf;fhd rpghupRfs; 

 gpujhd Nghf;Ftuj;J ikaq;fspy; Rw;Wyh jfty; epiyaq;fis mjpfupj;jy; 

 rpwe;j tPjpg; ghJfhg;G Kiw> cupa foptfw;wy; gof;ftof;fq;fspd; tpUj;jp 

 cgr;rhuj;jpw;fhd r%f cUkhw;wk; 

 Rw;Wyhj;Jiwapy; KjypLtjw;fhd Gjpa KjyPl;lhsu;fis ftu;tJ mtrpak; 

(iii) 

 ntspehl;L KjyPl;il Cf;Ftpj;jy; 

 Copar;re;ijapy; ,Wf;fj;jd;ikia ePf;Fjy; 

 rf;jpts%yj;ij gd;Kfg;gLj;jYk;> tpupthf;fYk; 

 murhq;fk; tup Cf;Ftpg;Gf;fis toq;Fjy; 

 nghJ cl;fl;likg;G trjpfis tpUj;jp nra;jy; 

 Vw;Wkjp Nehf;fpa ifj;njhopy; kakhf;fiy Cf;Ftpj;jy; 

 etPd njhopy;El;g trjpfis Nkk;gLj;j eltbf;if vLj;jy; 

(iv) 

 ,yq;ifapy; nghUshjhu tsu;r;rp Fiwe;j kl;lj;jpy; fhzg;gLjy; 

 kdpj %yjdj;jpul;rp Fiwthf ,Uj;jy; 

 Muha;r;rp mgptpUj;jp kPJ Nkw;nfhs;Sk; nryTfs; Fiwthf ,Uj;jy; 

 ,yq;ifapy; epyTk; Fiwe;j Nju;r;rp kl;lk;> Fiwe;j rk;gs kl;lk;> 
vd;gtw;iw mbg;gilahff; nfhz;l ifj;njhopy;kakhf;fr; nraw;ghL 



fhuzkhf mwpit mbg;gilahff; nfhz;l nghUshjhu tsu;r;rpr; 
nraw;ghl;il Nehf;fpr; nry;Yk; epiy Fiwe;Js;sJ. 

 ,yq;iff;F ntspehLfspypUe;J fpilj;j ed;nfhil cjtpfs; 
kl;Lg;gLj;jg;gl;ld. 

 fy;tp> gapw;rp> Muha;r;rp> mgptpUj;jp eltbf;iffSf;fhd KjyPLfspy; tPo;r;rp 
Vw;gl;Ls;sJ. 

 Neub ntspehl;L KjyPLfshdJ Fiwe;j njhopy;El;gj;Jld; Copar; 
nrwpthd njhopy;fis Nehf;fp mjpfstpy; cl;gha;r;ry; Vw;gLtjdhy; kdpj 
%yjdj;ij cau;j;Jtjw;fhd tha;g;Gf;fs; Fiwthf ,Uj;jy;.  

 

 


